e

1 2 3 5 6 7 | 8 |
REVISION
LTR DESCRIPTION DATE APP
A
+0.50
277.00 7 *xx o 10, 5% %X ~
2 X
Z Q
3.00 ,W B
e
« | P5.5%Kx
: 3 g | !
o ()] — o
& o ..3007 o =
283.00 \
S
T
S
S 3450 /—m
™ E
> O’ )
" i
% 75.00
[an]
Tp)
S 79.00 F
B R E E MODEL ;
[ DIMENSION CLASSIFICATIIN | _ -
% + CRITICAL BAZR:
i 1,MBESPCCHE, PART NAME THTHBL-02-150W (%
| TOLERACNE TABLE 8,2%@35}1&?%\ %%fﬁ‘\ v— APPROVED
TOL_GRADE L] | m| %%ﬁl" + I PLCP PLCANGLE] CHECKED
0-25 + 010 [+ 020 |+ 030 3 ﬁﬁ%ﬂ%%%éﬁ TOL | | UNIT|  mm
25-80 |+ 045 |+ 030 |+ 100 Ei. Rl srecpm boad s AW |
= + + + 3
825§?U ;ggg ;ggg ;ggg 4, XEARTBHDE FINISH DATE| 08/18/2015 | REV | A0
ANGLE [= 100 [£ 15 [* 20 e D-ree w0 provecriv | - |11
1 | 2 3 5 | 3 7 | 8 |



LIGHTING

120W and 150W Bracket assembly instructions

1. CR.15BS000002
Pinboard of ceiling bracket
HBL100W/150W/200W-02-TA/TCpinboard of ceiling bracket iron
matt in black 98*69*63 thickness4mm

2. GA.03NW000002
Lockwasher

external diameter: 10.7mm, inner diameter: 6.3mm,

thickness1.7mm, SUS304, with M6 screw, spring gasket

3. GA.13NW000001
Flat mat

external diameter: 12mm, inner diameter: 6.2mm,

thickness1.0mm, SUS304, with M6 screw, flat gasket

4. SC.2M06025100000001
screw (Screw M6*25 hex socket)

M6%*25, SUS304, hex socket set screws

5. SU.501BSHB000008
Bracket 150W

HBL150W-02-TA/TC ceiling bracket iron matt in black
253*133*35 thickness 3mm




LIGHTING

120W and 150W Bracket assembly instructions

Vi X
’sssm@an?

6. GA.03NW000005
Lockwasher (Spring gasket, M10)
external diameter: 15.6mm,inner diameter: 10.2mm,thickness:
2.6mm,SUS304,with M10 screw, spring gasket
7. GA.13NW000006
flat gasket/washers (Flat gasket, M10)
external diameter: 19.6mm, inner diameter: 10.5mm,thickness:
2.0mm,SUS304, with M10 screw, flat gasket
8. 5C.3M10025400000001
screw (Screw M10*25 hex screw)
M10*25, SUS304, outer-hexagonal /hex screw
9. SC.7M10000100000001
Nut (Nut M10)
M10*P1.5*T=8mm hex nut SUS304

10. SC.3M04014400000001
screw (Screw M5*14 hex screw)

M5%*14, SUS304, outer-hexagonal /hex screw

11. SC.7M05000100000001
Nut (Nut M5)

M5*P0.8*T4mm hex nut SUS304 Hexagon on edge is 8mm head
thickness 4mm

12. GA.03NWO000005
Lockwasher (Spring gasket, M10)

external diameter: 15.6mm, inner diameter: 10.2mm, thick-
ness: 2.6mm,SUS304,with M10 screw, spring gasket

13. GA.13NW000006
Flat gasket/washers (Flat gasket, M10)
external diameter: 19.6mm, inner diameter: 10.5mm, thickness:

2.0mm,SUS304, with M10 screw, flat gasket

14. SC.7M10000100000001
Nut (Nut M10)
M10*P1.5*T=8mm hex nut SUS304




